44.

45.

46.

47.

An infinite number of identical
capacitors each of capacitance ¢ = 1 uF
are connected as shown in figure. The
equivalence capacitance between A and
B will be

{1
e
HHHHHHHHH

cccccccc

o o

A B
(A) 1pF (B) 2pF
1 1
(C) FuF (D) ZWF
The permittivity of diamond is

1.46 x- 10710 C2/N.m2. The electric
susceptibility of diamond is
(€,=8.85%107'2 C3/N.m?)

(A) 16.5

(B) 15.5

(C) 1.37x107'0 CZ/N.m?

(D) 1.25x 1071 C2/N.m?

A simple pendulum of length / has a bob
of mass m, with a charge q on it. A
vertical sheet of charge, with charge ¢
per unit area, passes through the point of
suspension of the pendulum. At
equilibrium the string makes an angle 0
with the vertical, given by

(A) tan”! (ﬁ—g} (B) tan!

(C) tan”! [2—“1] (D) tan_l[

€ ,mg

A conducting sphere of radius
carrying charge Q, lies inside 2
uncharged conducting shell of radius 2R.
If they are joined by a metal wire, then
amount of heat produced is

e 1507
o 4ne R (B) 4ne R

@ 1 Q?
© Zne, 2R © ne 4R
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48. A and B are two points on a uniform
ring of resistance R. The ZACB = 6,
where C is the centre of the ring. The
equivalent resistance between A and B is

(A) —T—rz—(zn 8)6 (B) R[r—-—)

0 2n-0
© Ry D) R

. # N identical cells, each of e.m.f. E and
" internal resistance r are joined in series.
Out of these, n cells are wrongly
connected i.e. their terminals are
connected in reverse of that required for

: : N .
series connection. For n < 3’ the

resulting system will have internal
resistance
(A) (N-n)r (B) (N-2n)r
—-n
o2  on

50. A current of 5 A is passing through a
metallic wire of cross-section area

4 x 107 m2. If the density of the charge

carriers in the wire is 5 x 1026/m>, then
the drift speed of the electrons is

(A) 1ms (B) jgmss
1 1
(©) 33 m/s (D) gz m/s

51. A milliammeter of range 10 mA has a
coil of resistance 1 €. To use it as an
ammeter of range 1 A, the required shunt
must have a resistance of

101 ®B) Too
(D) 0.9 Q

52 ‘ Two electric bulbs rated at 25 W, 220 V
/ and 100 W, 220 V are connected in

__/ series across a 220 V voltage source.

The 25 W and 100 W bulbs now draw P,
and P, powers respectively, then

(A) P,=9W,P,=16W

(B) P,=16 W,P,=9W

(C) P,=16W,P,=4W

(D) P, =4W,P,=16 W

BIMP6



R 41 U& (UM Bed W a1 fag
| B & | %101 LACB = 6, 981 C &l &1

44, ¥ 9Rar ¢ = 1 uF I 3@
R 1 o & AR ST TS | A

s e o |A@B$d’mm§mnﬁmﬂ%
e 4
Ic 1LC = (2:'! 8)0 (B) R(l""‘)
— I A (©) 112""—,t (D) szme
_LHCHCHCHCHCHCHCI_ 49. A% Ry 9® a0 E 901 ARe e ¢
| . ! arer N aasdt e Sofies & oS Wi & 1§77
A B ;
(A) 1 iF ®) 2 uF ﬂnﬁamﬁsﬁﬁuﬁ%ﬂ;ﬁﬁiﬁvﬁﬁn
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45. &R @ regar 1.46 x 10710 C2/Nom? & | L e
&R @ fagda wgfir & (€= 8..85 x 10712 (A) (N-n)r (B) (N-2n)r
C2/N.m?) (©) Ll (D) Nr
(A) 16.5 :
(B) 15.5 50. aﬁmqﬁmmw 1076 m? a0 ©&
(©) 1.37x107'% C¥/N.m? g HARY 5 A P g1y 81 ¥ 1A
(D) 1.25x10710 C/N.m? IR ¥ I e B e 5 x 1026/m? =,
T SAGS AN B AYATE AT &
46. TS | P UH G SId H SHH m P TE I19 , _ 5
& o W 1@ 913w q & | 9 g & S (4) Laus (B) jgnvs
GWWWWWW*W (©) %mfs (D) ngm’zs
famg A orRd & | wrEwRn A, SN SR |
o7 O T & o) b g R o & 51. ¥ 10 m:w?’liﬁg
L og: ol om HH!!H 1Q%l 1 A
() 1(26 mg] ) o ’[Eomg] TRE AR FRA S o), e s &1 akRe
1209 (—ea )\ A

47. 5w R $17a Geed Mo, R ® sma (D) 0.99 Q

&, firown 2R 1 0P Ao SRR AT B, S 82, 25w;220vnat00w 220 V & fiRa

s R TR R ag FarRgRweT N[ ﬁﬁqﬂmwzzovmmﬂm
\‘__________._

AT, T4 S FHHT B ATAT & AR I E 13@25 W @ 100 W & acd

#»99: P, W@ P, vifea ied &, 7@

| C. 2 2
‘ s . g 4 (B) P,=16W,P,=9W
R g P,=16W,P,=4W
© 4ne 2R D) 4ne 4R (C) ¥y=10W, 75
o 0 (D) P,=4W,P,=16W
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53‘

55.

56.

57

The sensitivity of a potentiometer can be

increased by :

(A) increasing e.m.f. of the cell.

(B) decreasing e.m.f. of battery of main
circuit.

(©€) i
(D)

straight conductor XY carrying a current I,

as shown. The force on AB has magnitude
'l

M li M li
(A) o n 2 (B) o n3

2u Ti

RITH §
[4) (4]
© in

2n

(D)

A horizontal ring of radius r spins about
its own axis with an angular velocity ®
in a uniform vertical magnetic field of
magnitude B. The e.m.f. induced in the
ring is

(A) Brlw (B) %Brzm

(C) m’w B (D) zero
In the loops shown, all curved sections
are either semicircles or quarter circles.
All the loops carry the same current. The
magnetic fields at the centres have
magnitudes B, B,, B;, B,. Then

A current of 1 A is flowing in the sides of an
equilateral triangle of side 4.5 cm. The
magnetic field at the centroid of the triangle is

(A) 1x 1075 weber/m?
(B) 2 x 10~ weber/m?
(C) 4x 107 weber/m?
(D) 8x 1075 weber/m?

14

580

60.

61,

62.

63.

A thin magnet is cut into two equal parts
by cutting it parallel to its length. If one
part is vibrated in the same magnetic
field in which the original magnet has
time period T, then the time period now

e 3 T

"AT B2 ©O5 O

“Which of the following is a
aramagnetic material ?

(A) Copper
(C) Gold _

(B) Aluminium
(D) Water

The rm.s. value of em.f. given by
E = 8 sin ot + 6 sin 2wt volts is

(A) 10 volt (B) /50 volt
(C) 5 volt (D) /82 volt

An inductor of self-inductance 5 H and
resistance 100 Q is connected in series
with a battery of e.m.f. 10 volt. The
maximum rate of increase of current is
(A) 0.25 A/s (B) 0.5A/s

(C) 1.0A/s (D) 2.0A/s

A 50 Hz a.c. of crest value 1 A flows
through the primary of a transformer. If
the mutual inductance between the
primary and secondary be 1.5 H, then
the crest voltage induced in secondary is
(A) 100V (B) 200V

(C) 300V (D) 400V

A charged particle begins to move from
the origin in a region which has a uniform
magnetic field in the x-direction and a
iform electric field in the y-direction. Its
is v when it reaches the point

). The speed v will depend
ly onx

particle with a specific charge *s’ is
fired with a speed v towards a wall at a
distance d, perpendicular to the wall.
What minimum magnetic field must
exist in this region for the particle not to
hit the wall ?

y, 2v o o
W B O35 O 34
BIMP6



[ &

(A) Yo fgaarsaadgfead| g

(B) 7% TRy P it 3 Riea a1ew I
"IN

(C) fawaardt arR 3t ovars 4 gfE Y |

(D) favaard IR Ft FaTS I TSI IR |

54, oRTi A yaiRd g L &19% 9iad AB, 9R11 <

A yaifed o W Fred XY & oradd &1 Tl
&, S s qutar T & | AB W a1 &1 URATOT &
¥

I

A—i—B

—
L2 e

X
},1 Ii TR
(A) Sm2 (B) % /n3

2u Ii 3 i

© In (D) 2n

55. 3w r &1 s Afw v, @ uRAW B &
THEHH SR GBI &3 H PO AT o 9,
T Y 37 TR HHHYT PR BT & | Bl # ARG
faera-ames-aa &
(A) Brfo (B) %Brzco
(C) m’wB (D) ¥

56. Tty A oqul ¥, Wt qE AT AT AN EE &
7T g, e 7 3 U SR TR &1
< & | g W TEPN &3 & IR B, B,,
B,, B, & 179

@

(A) B,>B,>B,>B,(B) B,>B,>B;>B,, /

(C) B,>B;>B,>B,(D) B,>B,>B,>B;;
57. q914.5 cm A U FAaTg gt @ 4

1 A aRT e &1 2 & | Bt ¥ o e W

TP G &

(A) 1x10~° weber/m?
(B) 2 x 1075 weber/m?
(C) 4x 1075 weber/m?
(D) 8x 1075 weber/m?

B1MP6
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® 2T © 5 O3
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(A) dfar (B) vy
(€) @ (D) urft
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(A) 10dre (B) /50 dee
(C) 5are (D) /82 dee

61. a-IR&E S H vd wfeke 100 Q &1 7S IRae
Sofipn # Rg@-aEe-ad 10 diee @1 @ |
ST SIS | IRTH g B HETH R E
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(C) 1.0 A/s (D) 2.0 Als
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UF TFABIER &b FrRifie @ waifed 81 @ ' 1Ak
i vd e & g s e 1.5 H,
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(A) 100V (B) 200V
(C) 300V (D) 400V
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67.

68.

69.

70.

A=short linear object of length ‘b’ lies
- «a@\ng tge axis of a concave mirror of
focal fenyth f, at a distance u from the

image is

7 @dfh
“_;’) ) b(u i f)z

A transparent sphere of radius R and
refractive index U is kept in air. At what
distance from the surface of the sphere
should a point object be placed so as to
form a real image at the same distance

from the sphere ?
R

R R
(A) " (B) LR (©) " T (D)

B+l
Two thin lenses, when in contact,
produce a combination of power +10
dioptres. When they are 0.25 m apart,
the power is reduced to +6 dioptres. The
powers of the lenses, in dioptres, are

(A) 1and9 (B) 2and 8

(C) 4and 6 (D) five each

A telescope consists of two convex
lenses of focal lengths 16 cm and 2 cm.
If object subtends an angle of 0.5° on the
eye, then the angle subtended by its
image will be

(A 2° (B) 4° (© 3* (D) 16°

The diameter of aperture of a plano-
convex lens is 6 cm and its maximum
thickness is 3 mm. If the velocity of light
in the material of lens is 2 x 108 m/s,
then the focal length of lens is

(A) 30cm (B) 40 cm

(C) 50cm (D) 60 cm

A glass prism of angle 60° and refractive

index 3

L jtn

4 ;
refractive index 3 Find the angle of §

minimum deviation for a parallel beam
of light passing through the prism.

(sin‘]@J - 38.6°)

(A) 17.2°
(C) 38.6°

(B) 19.3°
(D) 34.4°

is immersed in a liquid of 4

16

1.

72.

730

74.

15,

76.

(A) F,>F,>F,

The resolving power of a telescope
depends on

(A) the focal length of eye lens.

(B) the focal length of objective lens.
(C) the length of telescope.

(D) the diameter of objective lens.

Two nicols are crossed to each other.
Now one of them is rotated through 60°.
What percentage of incident unpolarised
light will pass through the system ?

(A) 12.50% (B) 37.5%

(C) 45% (D) 52.5%

An excessively thin film will appear in
reflected light as

(A) white (B) black

(C) red " (D) yellow

Sunlight filtering through a tree often

makes circular patches on the ground

because of

(A) the space through which light
penetrates is round

(B) the scattering

(C) the diffraction

(D) the interference

Choose the correct statement from the

following :

(A) The diffraction fringes are never
equally spaced.

(B) The diffraction fringes are always
equally spaced.

(C) In the diffraction pattern, only
bright fringes are equally spaced.

(D) In the diffraction pattern, only dark
fringes are equally spaced.

In a Young’s double-slit experiment, let
B be the fringe width and I, be the

intensity at the central bright fringe. At a.
distance x from the central bright fringe,

the intensity will be
(B) 1, cos? (%)

-41 0 s2 [%) (D) zcos (?)

leons are at a separation of
net force between them is F,

0 er isa neutron Then, :
(B) F;>F,>F,
(D) F,=F;>F,

(©) F,=F,>F,
' BIMP6



66.

67,

 68.

69.

70.

(A) 2°

T b’ B U B IR 7w fererdt 7% &

St b ador & g8t u R 7 | wffer @1 ameR |

TS

w7 @

©) b(”%‘) (D) b(u—f—gjz

IYaHIP | Ud 391 R &1 UF URSS el
T H TG | U g g B M & o
fora 8 or vt o o 6 et @ s g8
W U qRafad wfafdra a2

R R

R
(A) m (B) uR (©) “_1(0) ntl

2 ydel o=, oig 3 § &, S g1ax + 10
SR B Ry <d & 1999 0.25 m T WRE,
9 9Ifd TEdY + 6 SRR 8l Wil & | SR
H, ol o afea &

(A) 1T@9 (B) 278

(C) 4w 6 (D) A% g

T gredfi # wiew @9 16 cm @ 2 cm

. 91 €Y I o § | IR 9 A W 0.5° BT

HIVFT &, 79 39 Hfafara gRI B0 M
(B) 4° (C) 8 (D) 16°

T GH-I o= b RS H1 AN 6 cm & AR
P! Afpaq AeE 3 mm & 1R AW S
aarl # w17 2 x 108 m/s &, a9 o
P BT TS B

(A) 30cm (B) 40 cm
(C) 50cm (D) 60 cm
T 3 3R 01 60° R T s o
B T > g i
¥ IORA dTell HHTE B
=g fare T
(2N
(SII’I 1(8)"
(A) 17.2° -
(C) 38.6° (D) 34.4°

B1IMP6
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73.

74.

15,

76.

C wa 60° ¥ gftra foar st & | Fem @
()

(A-) 12.50% (B) 37.5%
(C) 45% (D) 52.5%
%ew%mﬁﬁﬂmmﬁamﬁm
(A) ahe (B) @t
(C) dre (D) deht
e U A B9 &l AR THH B GRd R
it e §9 HRUT A AT
(A) q8 R &1 Y U [oRal e, 98 Md &
(B) Wi & SR
(C) Rada & sRY
(D) @fdaxor® SR
Prferaa § 9 vl B g
(A) Mﬁﬂﬂgfﬁﬁﬂﬁw@wﬁ
|
(B) %f;aeﬁ Rt Eiren TaHE o8 W B
1
(C) fagd= fomr 3, Haot wbe 1 THaam
wREAE
(D) faad= = 3, Haar wrelt it gHaar
TAwRERRE |

o 4 & fo-fos wam H, v =iers B & i
F=ita wibe e @) dftean [ ) & | B e
51 A x AR, Faarert

(A) 1, cos (ﬁ) (B) Io.»::os2 (ﬁ)

() 1, cos? (%) (D) %”aog2 (%)

QA YfFaa | fm PO RE IFTIHI S i
wRom 7w F, & af S g & F, 2l
<l et & ot F, & o T AieH § ok
RIS § T4,
(A) F,>F,>F,
(C) F,=F,>F,

(B) F,>F,>F;
(D) F,=F;>F,




78.

79.

80.

81.

82.

The activity of a sample of radioactive
material is A at time t, and A, at time

(A)

(B)

(€)
(D) A=

When white light (violet to red) is
passed through hydrogen gas at room
temperature, absorption lines will be
observed in the

(A) Lyman series

(B) Balmer series

(C) Both(A) and (B)

(D) Neither (A) nor (B)

When a hydrogen atom emits a photon
of energy 12.1 eV, its orbital angular
momentum changes by

(A) 1.05x1073%Js (B) 2.11x103*Js
(C) 3.16x1073*Js (D) 4.22x 10734 Js

A gamma ray photon of energy 2.2 MeV
produces an electron-positron pair. The
kinetic energy of each of the charged
particle so produced is

(A) 0.59 MeV (B) 1.02 MeV

(C) 1.18 MeV (D) 0.51 MeV

In a photo-emissive cell, with exciting

wave length A, the fastest electron has a
speed v. If the exciting wave length is

changed to %}

emitted electron will be

3
@
4
® 3
(C) lessthanv ‘\/%
4
(D) more than v ’\/%

» the speed of the fastest

18

83.

84.

85’

86.

87.

88.

i A 44 KW

)

An o-particle of energy 5 MeV is
scattered through 180° by a fixed
uranium nucleus. The distance of closest
approach is of the order of

A) 1A B) 107" ¢cm

(C) 1072 cm (D) 105 em

The combination of gates shown in
figure gives
A

— | —a X
L e
(A) AND gate (B) NAND gate
(C) NOR gate (D) NOT gate

For a transistor, current gain o = 0.96. It
is used as an amplifier in a common base
circuit with a load resistance of 4 kQ. If
the dynamic resistance of the emitter-
base junction is 48 €, the voltage gain is
(A) 40 (B) 80 (C) 120 (D) 160

An electromagnetic wave for its D layer
has electron density N = 400
electron/cm® and frequency v = 300 kHz.
Its phase velocity is

(A) 3x108m/s  (B) 3.75x10% m/s
(C) 24x108m/s (D) 1.2x10%m/s

The atomic numbers of U, Ba and Kr are
92, 56 and 36 respectively. In the fission
reaction 23U+ 'n — 41Ba + 92Kkr +
neutrons, the number of neutrons
produced is

(A). 0.~ (B) 1 A{C)s2 D)3
A reverse bias p-n junction has

(A) very narrow depletion layer

(B) almost no current

(C) very low resistance

{D} large current flow

radio  station emits
;clectromagnctlc waves uniformly in all

- ¥ / directions. How much energy per second

crosses a 1 m? area 1 km from the

transmitting antenna ?
(A) 35kW (B) 35W
(C) 3.5mW (D) 3.5uW

BIMP6
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80.
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82.

s feafea verf & va A @) afbgarn
W4 WA RAR TR, R A, ®
(ty>1)) IsTa siraa amg T &

(A) At = Ay,

Al-Ay ;
®) =i

= (t] = to)T
©€) Ay=A1—®
(D) A,=Aei-%)

Wq ghe FBE (@ F A 99) IR $
AH W BRSO W oRdl 8, 99
SraenyoT ¥ 9 art oo :

(A) g A

(B) arm Aoftd

(C) (A)vd (B) sHi#

(D) sai(A) #a&(B)#

I TS BIEgIoF WA Hull 12.1 eV &1 7
B Icafora Hal &, 99 39S Hei Hioflg
HaH gRad= ST e

(A) 1.05x1073%Js (B) 2.11 x10734Js
(C) 3.16x10734Js (D) 4.22x10734Js

Ful 22 MeV &1 TH T ol wiel U@
ST -GS Y9 Seq~ BT & | §9 YBR
I 9P IR por H 1faw Faf
(A) 0.59 MeV (B) 1.02 MeV
(C) 1.18 MeV (D) 0.51 MeV
5wy IO At ¥ Ao AN S A $

T e goe @ TR v ¥ 1 AR S
et o g 22 @ &, o g
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85.

86.

87.

88.

89.

If¥® gRT 180° 4 W

IEFA A P P &

(A) 1 A (B)

(C) 1072 ¢em (D) 10~

R i gaR e Fryagom Sars
D
Be—ro] “/

(A) AND i (B) NAND e
(C) NOR e (D) NOT e

s giforer & forl, am1 afér o = 0.96 39
% Iafe amuR 9Ru # &S ufav 4 kQ
P TRI AP P B9 § w4 fhar o & 1R
I B-IMER I BT e gl 48 Q 7,
a4 dleedl dfe &

(A) 40 (B) 80 (C) 120 (D) 160

% fgagee @ @1 D wd & ol
goae g9 N = 400 electronfcmrf 3R
amgRT v = 300 kHz & | ga@Tdanan

(A) 3x108m/s (B) 3.75x10% m/s
(C) 24x108m/s (D) 1.2x10%m/s

U, Ba ©d Kr @ W] S 99 92, 56
wg 36 & | frave aififsar 235U + 'n
141Ba + 2Ky + =ggi #, Scu=1 =qgFl 3
@

ao ®1 (© 2

U3 U¥9 419 p-n G BRAV/EATE
(A) 3 H@of gt T

(B) ePm™A Y ERT

(C) afy =g wferm

(D) s gRTuaTE

TF 44 kW fem wya ot fRweil A
THETH w9 ¥ RgagEe o sfa e
81 & | fpaft Sl wfa Qovs duor ¢fe |
1 km §X 1 m? &1l 9 &y o W&l & ?
(A) 3.5kW (B) 35W

(C) 3.5mW (D) 3.5 uWe

(D) 3



91.

92.

93.

94,

95.

(C) 5ms?

they are connected in
en the net resistance with
um percentage error is

(A) (16 £0.5) ohm

_(B) (16 *1.0) ohm

(C) (3 +22.92%) ohim
(D) (3 +0.25) ohm

The dimensional formula for bulk

modulus of elasticity is
(A) [L7] (B) [MLT?]
© ML’T? (D) ML'T?)

If a body travels half its total path in the
last second of its fall from rest, then total
time taken in travel is

(A) 45 (B) (2+42)s
(C) 3s (D) 2s

An aeroplane is flying in a horizontal
direction with a velocity of 540 km/hr
and at a height of 1960 m. When it is
vertically below the point A, on the
ground, a body is dropped from it. The
body strikes the ground at point B. The
distance AB is

(A) 3.0km
(C) 9.0km

(B) 5.4km
(D) 10.8 km

A car is travelling at 30 m/s on a circular
road of radius 300 m. It is increasing in
speed at the rate of 4 m/s®. Its
acceleration is

(A) 3 m/s? (B) 4m/s?

the lift moves up with an accelerati
equal to the acceleration due to gravity,
the reading on spring balance will be

(A) zero (B) 2kg

(C) 4g (D) 4kg

96.

97.

98.

A 4 kg block A is placed at the top of 8
kg block B which rests on a smooth
table. A just slips on B when a force of
12 N is applied on A. What is the
minimum horizontal force F required to
make both A and B move together ?

"] a]

B —.F

7777 777777777777
(A) 36N (B) 30N
(C) 24N (D) 18N

A particle is projected over a triangle
from one end of a horizontal base and
falls on the other end of the base. If o
and P are the base angles and 0 is the
angle of projection, then

(A) sin®=sino+sinB

(B) cos®=cos o +cos P

(C) tanO=tan o + tan B

(D) cot®=cot o+ cotf

A mass m is hung with a light

inextensible string as shown in the
figure. The tension T, is equal to

3028
T,
T
me
(ay 2 (B) \3 mg
mg 2mg
_(C) 3 (D) 3

A particle slips from a height 4 r from an
inclined plane which ends into a loop of
radius r. The normal reaction at the

spectively are
) 3mg, 9 mg (B) 4 mg, 8 mg
) 0,6mg (D) 3mg, 6 mg

‘A ball of mass m moving at speed v collides
with another identical ball at rest. The
kinetic energy of the balls after collision is
three fourth of the original kinetic energy.
The coefficient of restitution is

1 1 ]
(A) 53 (B @ © ﬁ (D) %
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90.

91.

92.

93.

95.

q g R, = (4 * 0.5) 3w w@
R, = (12 % 0.5) 311 & q9A 9l & | 579
T FER BH § el 9T &, 99 R
iRy arfteram e I & wrr &

(A) (16 £0.5) 3ied

(B) (16 *1.0) 3t

(C) (3 +22.92%) 3l

(D) (3 +£0.25) 3T

T HegTera uris & ford frfra s &

(B) [MLT?]
(D) ML7'T?

(A) L3
(C) [ML?T?

Y e axg fasm sewen & iR W ad
e Aepvs # qof g &1 3T AT FRA B, 79
FrETH o mawl aHg 8

(A) 45 B) (2+42)s
©) 3s (D) 2s

G wEVES 1960 m @ FAE W
540 km/hr F 3] R REMASew@IE |
e 7e farg A & FeafR A9 8, Fa R w @
] 399 iRt et ® | g R R fag B
WL ITHABE
(A) 3.0km

(C) 9.0km

(B) 5.4km
(D) 10.8 km

% FR 300 m Brom gl Y 996 |
30 /s @ AT | T IR IE ¥ | 7§ 4 m/s?
B 1A A I PR I TR
(A) 3 m/s? (B) 4 m/s?

(C) 5m/s? (D) 7 m/s?

B) 2kg
(D) 4kg

97.

98.

Yl
(A) 36N (B) 30N
(C) 24N (D) 18N
% B3rpe & &fds R & @ RR A a3
&1 verfira foran ST & ofR 98 3R & IR RR
W fiRaT & 13X oL 7d B 3MeR B0 E 3R 0
HEY B E, TG
(A) sin®=sino+sinf
(B) cos®=cos o+ cosf
(C) tanO=tano +tan B
(D) cot®=cot o+ cotf

% g ARG S ¥ S@EH m deail
T & S s fr 3 guin &, e T, &1
AR

) 3 ) 3 mg

2
© *’-’ﬁ (D) —J“-‘f
T 3Fd 7 ¥ S 4 r ¥ TP HUT 39 IR
fhererar & 5 SwaT waTo ve ot & qu i
BT & | U $ Segaw vd g fagst ™
aif¥yera wfafdrar a8

(A) 3mg,9mg (B) 4mg,8mg
(C) 0,6mg (D) 3mg, 6 mg

. 9 v ¥ 1faefid s@EE m 31 ta e Rsm

araven R fRya va wwey i | THd § |
[ug & qTaw A5 B s Bl RS e
maﬂfﬂﬂm%lmﬂmw%

1 ¢ 3
A3 (B \/- ©) ‘\ﬁ D) 3
o
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2.

©

Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-1 of the Answer Sheet
in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the circles
corresponding to the digits be blackened with Blue / Black ball point pen only.

IR-TF F -1 & e W W et TR/ W I W s/ We-gfes # 9@ ok 9
FEZT-T WA |/ R | T BN @I 3o st @R Hord B Aot / Fel @E F 9 AR
fads fieft / wreht diet @ge O @ ¥ |
Example : If Roll No. is 179682 and the Question Booklet Npgis {

FTER IfE e TR 179682 & wE TIeAT-gf TR WA 14300 %jéﬁ\ y

PSS
- g 'ﬁ 7

| a

0OPOROOOOE 2]

oxorcrrrrrererr e
PPPOPPEO®OO|
P0P0PROOOO|v
PPROO®O®O®OH6| o
X x rrrrrrrer e
oxoxcxercr el 2 is
PPPORROOO e -
PPPOPPOOOO| +
PPPAPAOO®O|w
P0POPRPOOO®O| v

Process for Filling up OMR Answer-Sheet (I9-Useh qr-2 Wl ¥R @1 WGHAT) :

The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

W Fg-forhed YR € | 9ele e & o et e Sl # @ et weh €t weiife Suged & | gdwe w5 v
e % waltye Sga fased & W & grEtye Tiiet ® il / Hiel 8 @z 39 | € T § | 3 S8 SRR
Titet @t Ufer § TTeT ¥ o 3TE ITR-TFH Bl 7@ W oG AR |

Example: If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question no. 7 as

shown below :

FIETOT ¢ A e e 7 o forg e B W SRR, Al S T 7 % W & et it bt e e & areR

2

THIE #
Q. No. 1
Q. No. 2

(a) The circles, as described in C-1 above, are to be darkened by using Blue / Black Ball Point Pen only.
(%) I % C-1 H a3 T SR Tt Y el / HTeht dfer @rEe O §RIE T |

(b) The shading should be dark and should completely fill the circle.

(@) et =i iET | W7 TE T E =@ |

Continued on the back cover page.
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(c) Only one circle correspondin o K ; picr Y ould be darkened as shown below :

() T IR R AT S T Y A Feam i

Incorrect / TTetel @.l@ .@'-" o ®9@0 - OWEO
Incorrect / Ted @.@@ £

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer-sheet is not permissible as the answer-sheets are machine
gradable and it may lead to wrong evaluation.

() I9ge Tt Wi <Al / Fielt St @RS e J TH | Tee ngelt gg [ axe giifvea wof e 3 3w feg
waifes wel et 77 @ &, i e F TR F B o FwE o € | IwewE 3w e @ wwa
T 7§ frem # apla e el @, i SeR-omes Bt 7eie gRT geditna fhar o € ARt e W
i ¥ 3 8 geat & |

(e) Ifmore than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
manner or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

(®) 3fs Tw | s it it el / el Set @RS Herd J TN TR 47 I R 3 TR | 9ET IR e ™
T ORI © oFaR feRaT SR &t I/ et I g S |

Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only
be used for this purpose.

Terelt e 6T ST BT ST T TR AT & | T -G g forg wrelt w g e man &, St ov e
HH H |

“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the candidature
will be rejected.

I-T% W BT AR Hre” W wxE 1 e it 7 ey <9 et 7 g St 3 T fage @ € s
et Y SeiaRT g WA AR | 4 : N
Candidate must not leave any mark of identiﬁcation
Answer Sheet as this may lead to disqualification. |
T & -1 % e 36 o et v e o R
FEIIAT FR QT T THA & |
For verification of your handwriting, it is necessary to write th

backside of the Part-1 of OMR answer-sheet and also put your s 1gnature on specified space in Hmdl & English
otherwise your answer-sheet / candidature will be rejected.

3.TH.3R. ST & Te-1 F TR H 3ifever merier i FreER 1 ety 7 qof w9 § feraa s g semw
fe==t e 2ot o Fvifte e Rt | wafef st & fow ar sfer € | e T v W e SeR-gae / Infeard
i ]E F &g A |

In case you do not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
liable to be rejected for which you yourself will be fully responsible.

I S .GH. IR, F F-Teh % 758 17 7 el 1t Pt o v = oo, i arapn ere-ore g% foarr o e
¢ Fowrss fore o =t qof w9 & Sweert & |
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